<HFHRDOBHHICY - o T>

FRC B TR, [THHEFEORUE] [ 3B 2P CRED TR [#E TR ORIFEOMS| [FHATHEO R
L [HaBiro Rk IEfEE | %, HEcmI#ER2 L <h 0 4, WEICH L LChFERBITIG L., T3
Moo F v A VABGRED TR T 72858 © BB X IREPENEZELIER VLI ICTEDDHE
B #fToCEWY T, 4, BT, X7 AV veT—, LOSNBVHEEIC X ZL07 TICHIT -
KEEHIEREL CE WD T,

X725 DIERIC X Y, FICY 7z o Tk [REAFEO L ~DFEBICHEL . BRENZZHEZITWE ST (BERE
Fhad 25), [ECER] 13, FRFICER - 2T 2 REOREZRO T LItk HELZFERREBICL AN L2 H
e LCuwE 3, BRI, BYNT%E 2558 (AB) TOSHEREZIT) CL2MELTCVWET, A7 L—7
B 7 W—7LH L0 Ad Do nTid, HIXKIER, WARuiskBIfR, ABZER L, REI L TW/2ZWnTH ) 9,
AT, CHERLS 230,

1 B AB 70— 75T IconT

AB 7V — T30

14 2 4F 34 4 4F 54 6 4 HEO
AZV—7 | %1, # %50k %K L1, 0k %, R %, R %
BoaA—7 | 582 K. ¥ | K, B R, HE W2 K| K, Ky 7K

X1, 207N —=T1RERD 2HEIE. ZHT 2 TERVTZLZEET,

2 IR ZOSERIPEEICOWT
6 HFE 1~ 2HIconTid, WEIZ, A-Bo A —Fichhi, HEEREZERNZLET,
(A-Bo7 V=733 IconCiE, HiElo X =L TS 7ZE0,)
(55 1] 1 - 280, %7213, 3 - 4RO WTFhHrOREEZ T 5, HRAL,
6 H1H (H) ~3H (0K)
A 7N —7 BRI 8:10~8:20, TIREZ 1 4F 10:05, 2 4F~6 4F : 10:15
B 7V — 7" BN 10:25~10:35  TARIRAI © 1 4F 12:20, 2 F~6 4 1 12:30
6 H4H (K) ~5H (%)
A 7 —7 ¢ ERRRE] 10:25~10:35 TR : 14 12:20, 2 4£~6 4F : 12:30
B 70— 7" B 8:10~8:20, TAIREZY : 1 4F 10:05, 2 4E~6 4F : 10:15
(55 238) A-B 27— 7%, FERZNICERL, &b 6 b 4 R E2 FEhi, HEIL. A- Bl L ICH#EfHZ L Z
T MR %R L, BIRFFRH] 8:10~8:20, TIKIFZ 14 12:00, 2 FF~6 4 : 12:10
(55 3:8)] —oo s A—TIcn 03, TEfEARolREL EE, 4 FREZE, MEEM,
(55 48] BHE OWREETH . WMRFE, XBE 1~ 4EOFHEIFMEEN 2D O TR, RRDOENIC X > THE
DEDLIGENRD Y T,

3 6AH1H (A) oifg Hv27%5EHL. BRIETLFI N,

Reb W ERgIR, ERCHE. BiSoah, FE. REERAERE, WEREER, bEX @ERBRE, @EAETF = v
7 Hh— N, KEL KEEANSEFRITE, v AT, 7y v axiBiFER0b 085 2583 ORY TiRH D EHA,
o H IR 2R TV E T



